rfl. Trig. T6b (polar) - 5/8/201
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Y Trig/Precalculus Chapter Test 6 (polar)

1. Another representation of the polar point (3, 60°) is:

A) (3, -60°) (3, 240°) C) (-3, -60°)
D) (-3, 120°) (3, =300°)

2. The polar point (=1, —=27/3) is equivalent to: 1
A) (1, 120°) B) (1, -150°) @(—1, 240°) %
D)(-1, 60°) E) (-1, 120°) 1

5

3. The rectangular point (=3, 1) is the polar point: 6

A) (4, -18.4°) B) (3.16,-18.4°)  C) (4, 161.6% 7
©) (3.16,161.6°)  E) none of these g
4. Convert (8, 931/6) to rectangular coordinates: %(1)
G0 B0 008 (D0O,-8  E)none o
13
5. Convert (- 32 3J§) to polar coordinates:

A)(6,7/4)  B)(=6,7/4)  C) (6, Tm4) @(6, 3n/4)  E)none

6. Which of the polar points is not equivalent to (—4, 57/3)?
A)(4,2n/3)  B) (4, —4w/3) t

7. (=5, -3) is equivalent to polar point:

(f’p (5.83,210.96°)  B)(5.83,149.04°) C)(8,210.96°) D) (8, 30.96°)

8. Convert x—2y =3 to an equivalent polar equation.

- 3 — 3 — 3

@’ = Cos6-2sin0 T Y O 1= s6+ om0
__ 3 4

BT= 2(cos 8-sin B) E) I = sB+25m0

9. Convertto polar: y=1
A)r=sin6 B)r=tan0 @r=csce D)r=cos @ E)r=sech

10. Convert the polar equation, r=6sec, to rectangular:
A)x=-6 B)y=6 C)y=-6 @x=6 E) none

11. The graphof r=3+5sin0 isa:
A) cardioid B) rose
D) lemniscate

(C) limagon with an inner loop
E) limagon without an inner loop

12. The graph of r=3sin 30 is
A) a 6-petal rose @ a 3-petal rose C) a limagon
D) a lemniscate ) a cardioid

13. The polar graph at the right is the graph of:
A)r=6-2sin8 B)r=6-2cosH

C)r=3-5cosH
D)r=5+3cosH ®r=5—30058

C)(-4,4n/3) D)(—4,-n/3)  E)all are equivalent

E) none
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14) r=5 e

Ciwrcle

W
yadivs

?.5

R TV
e I
i
5L &
. we o C .
el
'\{\_\'\\Qg/ e |
Convert each to rectangular form.
18) =5 19) r=2cos 0 20) r=4csc O 21) 6 =37/§
25  Weylalx y=4 = Jrztm(zﬁ/&) e
Convert each to polar form.
22) y=x 23) y=7 24) X2 +y? = 168 25) X2 —y2=5
Q:TF/L{ r-_—?/S]nQ %= (L% rzCOS.‘L@*YZS\W%@':S -
oY y= 2168 = e LS"S”"?F@Q =5
% s y-dz B
r= 7CL§CQ— rs AN Ul s casit T
B o (1
26) Change 3 —3ito polar form. Leave in polar form. ﬂ: 26) ZEC.[S /<'(
. i f=Bg X TN
A v-[araz G- 302 ton (P)= 1M "
'_YE 27) Multiply (8cisn) and (4cis(n/3)). 27) L%Q\C\ S ZB =
| o 1)
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